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QUESTION NO: 1

A store manager needs to make changes to an asset via the Move/Modify action.

Which of the following changes can be made? (Choose two.)

A. Features

B. Storeroom

C. Asset's location

D. Class description

E. Parent/child relationship

ANSWER: C D 

QUESTION NO: 2

A company wants to ignore storeroom availability for work order status changes. Where is the setting that controls this 
function?

A. Organizations > System Settings > Work Order

B. Organizations > Work Order Options > Edit Rules

C. Organizations > Work Order Options > Work Type

D. Organizations > Work Order Options > Other Organization Options

ANSWER: D 

Explanation:

Reference: https://www-01.ibm.com/support/docview.wss?uid=swg1IV84044

QUESTION NO: 3

A company orders and receives a case containing 36 light bulbs which are issued one at a time. What is created for this 
relationship?

A. Multiplier

B. Issue Unit
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C. Issue Type

D. Conversion

ANSWER: B 

Explanation:

You order light bulbs in bulk and the unit of measure is a case, with a quantity received of 36. However, when you issue the 
item, you issue it one at a time. In this case, you can define a measure unit of CASE and another measure unit of EACH. 
You define a conversion ratio from CASE to EACH with a factor of 36. When you receive an order of bulbs into a storeroom, 
the received order unit of one CASE is converted into the storeroom issue unit of 36 EACH. Reference: 
https://www.ibm.com/support/knowledgecenter/SSLKT6_7.6.0.9/com.ibm.mbs.doc/ 
mbs_common/c_measurement_units_conversion_factors.html

QUESTION NO: 4

A company purchased many non-rotating as well as rotating assets and needs to understand the differences between them.

Which of the following are true? (Choose two.)

A. Rotating assets allow for maintaining an inventory of serialized components.

B. Both asset types allow for maintaining an inventory of serialized components.

C. Non-rotating assets allow for maintaining an inventory of serialized components.

D. Rotating assets can be held in inventory prior to moving to an operating location.

E. Non-rotating assets can be held in inventory prior to moving to an operating location.

ANSWER: A D 

Explanation:

Reference: 

https://www.ibm.com/support/knowledgecenter/SSANHD_7.6.0/com.ibm.mbs.doc/asset/ c_rotat_nonrotat_assets.html

QUESTION NO: 5

A company has a requirement to report on actual labor hours, materials, services and tools used as work progresses on a 
work order.

What is the earliest point in the basic life cycle a user can start reporting?

A. APPR

B. COMP
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C. WMATL

D. WAPPR

ANSWER: A 

Explanation:

Reference: http://www-01.ibm.com/support/docview.wss?uid=swg21683844

QUESTION NO: 6

An asset has an associated meter, RUNHOURS, and the Reading Type is set to ACTUAL. The asset will require 
maintenance every 500 hours of operation. What must the PM configuration include?

A. Associate the Asset to the PM, associate the RUNHOURS meter to the PM, Meter Frequency
= 500

B. Associate the RUNHOURS Meter, Meter Frequency = 500, Generate Work Order Based on Meter Readings (Do Not 
Estimate)? checked

C. Modify the Meter’s Reading Type to DELTA, Meter Frequency = 500, Generate Work Order When Meter Frequency is 
Reached? checked

D. Modify the Meter’s Reading Type to DELTA, Meter Frequency = 500, Generate Work Order Based on Meter Readings 
(Do Not Estimate)? checked

ANSWER: A 

QUESTION NO: 7

A company has acquired a contract for an asset covering labor, materials and tools.

What must be created to capture this information?

A. A Master Contract

B. A Warranty Contract

C. A Purchase Contract

D. A Labor Rate Contract

ANSWER: A 

Explanation:
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References: http://www.ibm.com/support/knowledgecenter/SSLKT6_7.5.0/com.ibm.mam.doc/ 
mods_apps/c_ctr_mam_mod_contracts.html

QUESTION NO: 8

A storeroom clerk is considering using item kits to group items together that can be issued to work orders. Which of the 
following statements are true? (Choose two.)

A. Can be assembled or disassembled across storerooms

B. Must contain condition-enabled, rotating, and lotted items

C. Are assembled in the Inventory or Inventory Usage applications

D. Disassembling decreases the balance of the item kit record and increases the balance of the individual components in the 
storeroom.

E. When adding to a storeroom, if the kit’s component items do not exist in the storeroom, inventory records are created for 
these items.

ANSWER: A E 

Explanation:

Reference: http://www-01.ibm.com/support/docview.wss?uid=swg22008251

QUESTION NO: 9

A supervisor has a requirement to record daily attendance of the labor or crew performing work.

Which applications can be used to record this information? (Choose two.)

A. Labor

B. Crews

C. Person Groups

D. Labor Reporting

E. Work Order Tracking

ANSWER: B D 

Explanation:

Reference: https://www.ibm.com/support/knowledgecenter/en/SSMAZG_7.5.1/com.ibm.mms.doc/ pdfs/pdf_mwm_user.pdf 
(p.23)
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QUESTION NO: 10

A supervisor is required to report actual work hours by work order number.

With which statuses can this be accomplished? (Choose two.)

A. INPRG

B. WAPPR

C. CANCEL

D. PNDREV

E. COMPLETE

ANSWER: A E 
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